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Set Id : 62384 28 BATCH2 D.ELEd. Odia_10NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

Harry nodded. He and Rosalie had raised their two beautiful daughters in that house on Walnut
Avenue. Lorraine and Donna now lived and worked in Seattle and had raised their families there.
One or the other came home at least once a month, sometimes more often; his sons-in-law were
frequent visitors, as well. Kenny, Lorraine's husband, had strung all their Christmas lights last week
and brought him and Rosalie a tree. Oh, yes, Harry knew how fortunate he was in his family, how
blessed.

And his grandkids...The four grandkids were adults themselves now and making their own way in
life. Being around his grandchildren did Harry's heart more good than any of those pills he gulped
down every morning.

1) Who was Harry's wife?

A) Rosalie
B) Kenny
C) Lorraine
D) Donna

2) What did Harry feel about his family?

A) Unfortunate
B) Blessed

C) Estranged
D) Petrified

3) What made Harry feel better?

A) Pills

B) Rosalie
C) Grandkids
D) Friends
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4) Who were frequent visitors to Harry's house?

A) Clients

B) Doctors

C) Patients

D) Sons-in-law

5) Where were Harry's grandkids raised?

A) Walnut Avenue
B) New York

C) Seattle

D) Los Angeles

6) Fill in the blank with the correct option:

She watched Rajiv an apple with a lot of care.

A) peal
B) pale
C) peel
D) pall

7) The phrase "imbue with something" means

A) to fill something with a weak feeling or quality

B) to fill something with a strong feeling or quality
C) to unfill something with a strong feeling or quality
D) to unfill something with a weak feeling or quality

8) Fill in the blank with correct prefix or suffix:

The court allowed the man's claim to the property.

A) dis
B) mis
C) fore
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D) un

9) Which of the following words is correctly spelt?

A) disasociate
B) disociate
C) dissociate
D) dissoshiate

10) Which of the following alternatives explains the phrase "hive something off'?

A) to ignite something with the flare of knowledge
B) to disregard someone of great repute

C) to separate something from a larger group

D) to unite something into a larger group
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following plants is nicknamed “Terror of Bengal™?

A) Eichhornia
B) Parthenium
C) Lantana
D) Opuntia

11) FORYS ARCYSR Axg 6946a AR “Qeraia Bilew” 26T ?

A) 21969182
B) aleeqan
C) Rl

D) agsa

12) Which one of the following is the guiding principle the Swatantra Party?

A) there should be state's intervention in the economy

B) there should be centralised planning

C) there should be nationalisation and expansion of public sector
D) there should be favourable conditions for individual's freedom

12) Qeqie ariug 6666 908 AIfa AIdedal 266 ?

A) 21066 QAURIQ 2Y6AA 6291 GE,

B) 69216 6I9TI 6291 A5,

C) AI9Q1P 689Q FISINRAS 19" FUR 6241 @FQ
D) @4366 Aieel aiel 49qR A6 a8l age,

13) For providing flexibility to learners, Open Universities follow choice-based -

A) Marks system
B) Grade system
C) Credit system
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D) Percentage system

13) Jaiinieg QAMAG! goIe @8Ql a9, g2 GgeIeagee aae-2RIGe 12Ig 29dad Ya8 -
A) fid daq
B) 69¢ Qaq

C) 6a26¢c daq
D) g6<see, daq

14) National Science and Social Science Foundation has been recommended by which of the
following bodies to look at knowledge as one seamless entity?

A) IP

B) IPR
C) NKC
D) IPO

14) GqRge TYYF FIQ @Y FUARIR Aeq 8 6ATAR ARG TAELAR] FILG I FA8F1 0F IFER 624G TR 69988 ?

A) gad
B) ziedaiq

C)ugead
D) 21ede6

15) What aspect among the options did the 1964-66 Education Commission recommend as an
integral part of all education?

A) Play-based experience
B) Project-based experience
C) Work experience

D) Research experience

15) 4% Ga89ea AU e@@“@@ e U 9%-99 §al 26als AL dAle 9@ AS6RYY Ue AINER YUIGE aaudiaeml ?

A) sae 2IRIGE 2680
B) gee 21100 26&e
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C) @Iy 280G
D) 2QQ8Ie AGRS!
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) All letters from A to Z are written as per the alphabetical order. If A and C interchanged their
places, B and D interchanged their places and so on, then which letter will be 7th to the left of R? (
Last 2 letters Y and Z are kept as it is)

A)P
B) O
6y
D)Q

16) A @ Z ade aag 28egée edliRl aa aqaa eadaieg | a§ A ¥e° C doda ge 2RIeee @ad, B ver D dodaa
7 AQRIQAYR 968 Q° FIGQ F1&l E Q¢ FIQ1 6L, 686e R @ aIFg aga Ya6A 6ad 28es QRQ ¢ (668 9 28a Y 4e°
Z a g« JA0Q0e awian 1)

A) P
B) O
C)S
D)Q

17) In a certain code language, if the word CHARACTER is coded as 381913259, then how will the
word AUTHORITY be coded in that language?

A) 132869927
B) 132969827
C) 132868827
D) 132968837

17) va GGa cqiq auaisq, & CHARACTER @o mrecemosc qigsa sq1a 62198, 666 AUTHORITY @ed @ 6a@ aisisa
G508 cele QI I ?

A) eMIrLee99
B) em9coerye
C) en9rorroe
D) en9eorrae
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is m/n > p?
. m>np

l.n>0

A) 1
B) 2
C)3
D) 4

18) GYRYL gggeasa 636 @aq :
¢. 96 QR4 | anque AV caalq Asaa 26T |

9. 0@ 9994 || vgfal e AAQA c29Iq Acaa EET |
0. 98 TG | e || aewg 910 R2IHe 6660 AN QRN 691! Aie ALY 26 |

¥. 9@ G4 | ver |l asaq waId faIde 6069 B AR AR 62! IE AYIg g6 |

m/n > p 26T & ?

. m>np

I.n>0

A) ¢
B) ¢
c)m
D) ¥
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19) Aman and Badrinath start walking simultaneously from a point. Aman walks 2 km east and
Badrinath walks 2 km south. Then Aman turns 90° clockwise and walks 2 km while Badrinath turns
90° anticlockwise and walks 2 km. In which direction are they from their initial position?

A) Both in south—east

B) Both in East

C) Aman in East and Badrinath in North
D) Aman in South and Badrinath in North

19) 2106 e @@R12 e 899 IRIAIFER SIRG! 2o @08 | 20R 9 AEAIFcR 94q 1 @ERIE 9 FEAIACE 984T JIRG | SIT6Q AAR
¢o® QTGIRREA 9 9 FsaIfica SIREel 6eeR edalel ¢o° QIFIAREa YR 9 Asafica SIMAIIR | sadise Glea glede §oQ

609 QOIEQ ST ?
A) 990 @¢-ga6a
B) @964 9e6a

O

AR, GIER Ie* 2EFI QLR

)
D) zaq ofese ue aGel2 QAR

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Who is the fastest runner among A, B, C and D?
|. A runs faster than B and D.

[I.C runs faster than only 2 runners.

A) 1
B) 2
C)3
D) 4

20) QRS ggqdaca 53¢ @ag :
0. 96 @RQdl | aaaia QAR 699Ig acaa 26T |
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9. 9@ QR4 || wgFa anaia RAAQ cwalg Keaa 26T |
qn. 9@ Y94 | ver |l anag w0 F2Ide 6069 AR ARQ 629! Al adiIg 266 |

¥. 9@ G4 | ver |l aeng 9eI10 G2Ide o060 @ ArAia QRN 699l AIe adyig g6s |

A, B, C e D auisa @ood dee @9 ?
. B4 D oig A g6 9G6Q 6Q16G |

Il. C 6a9@ 9 94 dIeae OIQ 691960 6X13 al6a |

A) ¢
B) °
C)m
D) ¥

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to Sri Aurobindo, mind consists of how many layers which education should develop?

A) four
B) five
C) three
D) six

21) 1 ZeRae AU, 19Q 626015 90 Q88 Il 9l QYN 996 6291 AR ?

22) A teacher provides her students with considerable autonomy and little support for developing

learning skills. The students have low self esteem and academic skills. Which of the following
classroom management styles she might be using?

A) Authoritative style
B) Authoritarian style
C) Permissive style
D) Submissive style

22) 264 2R QI DIQFING LU6A] ARG e JW¢ @80 FRIF6Q ALY IR @03 | VLVIQINNPETR @6 AQATS I 6Fad@
Q801 028 | A 644192 UAARR 6de1 RIQ 64 ARG IOVR FQES ?

A) 9RIgS 3@
B) 9RIQER 6871
C) 2o 6da
D) 941g@ 684

23) Reservation policy is

A) unconstitutional
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B) antisocial
C) constitutional
D) Unauthorized

23) A°QR8 Q1G 6998

A) Q168
B) zainiee
C) auGa
D) aqyqe

24) How is questioning method also popularly know as in field of education?

A) Dialogic method
B) Inquiry method
C) Socrates method
D) Cognitive method

24) 96909 066G 6QQ QIF6Q 714l Gl 6HQ60 ARG 216G ?

A) TRIA 86
B) 292Ie a8d
C) a6aq 98¢
D) me0q 086

25) As Assessment is a useful, desirable and an enabling process, one needs to do which of the
following things?

A) label learers as slow, poor, intelligent etc.

B) collect information continuously and record the same.
C) make comparisons between them.

D) make negative statements.

25) 6062 ARYIFS 9@ AACIF, ARFAE IS 9P ATF 09 A9, @ag FRYS FUIQ 69T KGR AR CAREAN ?

A) JANANLG A9, YU, REAIR QBUIT RIGER TBC GG
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B) fe9a goql a'ge @ag Ie* 619l 60R¢ Kag
C) 6Q0I9& F1:168 QRAI @0g
D) falie Qb Gag

26) Operation Blackboard is a program by NPE

A) to provide blackboards to all schools

B) to provide smartboards and digital facilities to all schools
C) to supply all bare minimum facilities to all schools

D) to supply schools with free note books and text books

26) 2960an QK616 6208 YR Y 9@ 6gIgIa

A) 9618 QPG GRITCT EISINS

B) ang ANIRAY YITERE N IRTIR YA 6AITING!
C) 2718 GQupaq ada] 98 eaIsIael

D) 8ueaglq cIsel ¢l 96° €0y g3e 6aIsIae!

27) lvan Pavlov conducted his experiments on Classical conditioning on which animal?

A) Cats
B) Pigeons
C) Dogs
D) Rats

27) 9RI9 ISR 66L I8 QU6 JIYla REAG* JINE QARSR ?

A) Genafle@°
B) esacqliga”
C) eeqIae°
D) qaiqueg®

28) Which of the following is an example of 'Response Analysis' of the sum 23 + 39 = 52

A)

The teacher tells the child that she needs to do more big number addition.
B)

The teacher finds out if the child is always careless in all classes and then reprimands her.
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C) The teacher finds out if the child forgot the carried over or needed to understand big number
addition.

D) The teacher tells the child that she is good at addition and needs to look at the number carried
over.

28) GeRge FrIQ 694G 6208 QUd 9M + M¢ = 89 ‘YoRM F6484’Q IR ARG

A) 899 daIg QL8 60 OIF TR A@ T 6KIG @A MR
B) 99 P89I1g lIRI8 98 GRIE A 65416Q ST AANIRG! LTNRE F6a 4e° 61'd6a FIFQ Ra&

99 QIS99 N6 62 IS 999 QAR THY YALIAT @ 9@ P edleg g@m AT

399 GRIeg 998 64 6d 600 RARIER LR R Y& 286 FAININAN FAA] CRYS ZIRGNR

29) The Teacher Education Policy in India has evolved over time and is based on recommendations

contained in various Reports of Committees/Commissions on Education.All of the following are the
important ones EXCEPT

A) Kothari Commission

B) Chattopadyay Committee

C) Sarkaria Commission

D) Acharya Ramamurthi Committee

29) QUQGER ATAGES 2 F9e F8l 718 GREC 6TIRE 8 JFI AUER Far FNG/Afdes ABAITER 2]l JIIQ
QUER 12 Ad46ade | AY6Q Y9I ERWETITYE QI 696m 2R A9 1IN JRRgd ?

A) 610101 @8R

B) eegicalkiig @66
C) qeqiel «faq

D) 2I01dy QIage @FS

30) According to Affective Domain, Organisation refers to

A) being aware of or attending to something
B) showing some new behaviour as a result of experience

C) integrating a new value into one's general value and giving it some ranking
D) acting consistently with the new value
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30) geuedIR1 6@16Aeg@a 2IQAIEa, 0L 19l Y56 A6Q

A) @8 Q9960 LR 6291 @A 6ATERR
B) AOROIQ TRITR VR @8 QO AULAS QRS

C) @ ARIQS CAIF IR ARIGE JRIER IRIRS RERI I 12Ig @8 aI2Y 694l
D) 969 9a 496 gelIsie QNEa @Iy @QS)
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 632 AVER 6RECIT QG IR UG AEE?

A) eo
B) 9o
C) 9y
D) 98

32) ‘A9’ @uQd Trgs 26Ie b6 LS I06g AT |
A) G99

B) foige

C) ade

D) deae

33) 6211 YR dQEl §Ig — 6QSIEE QT @ gRIQ Je8Iay ?

A) Q43 QIow
B) @g Qio@
C) @G qIoa
D) g& cioe

34) ‘2ea’ aaa JaAGeIdeRIR FR QI |

A) gsa1@
B) 2eIge
C) fai1@
D) gs!

35) QY SR0Y TEEVE Q6T JEAUG KM @6 62Q7
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A) 6aql
B) eam
C) ea
D) @il

36) 9 €@ 6260 QUTER F0B?

A) ¢
B) &8
C) oid
D) aig

37) 9F6q @00@ 2Ia FRRIGIEA 2IGER 6aE geue 2 ?

A) U’ geia
B) ‘@’ geia
C) ‘@’ gea
D) ‘a@’ geie

3 ? =2 e
38) ‘qaq 216 9I9e’ QEa 22 38 @ |

A) @291 @30

B) 98169 o@a!

C) ERUEGIRQR-CT 699
D) aad 624l

39) ‘agsai @8I’ 2dq 4 AR QF 79U Al |

A) 2ieg G218
B) 26 a4
C) 216 2aQ
D) 216 @aQ!
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40) 6QQ 6208 991 go190r 9] — 10I6a gI9190F @ galq G68188?

A) GUie 69968

B) Qe Q661941

C) gRqIR Q6894
D) @°qu1e10Q §6494

41) ‘aqay’ 99Q AAIFIFG 98 UL |

A) QRIeAE
B) 6QusH SRS Sl
C) @999 sl

D) equgialel 286aa &I

42) 98 99999 77 22 QIR 99 689 22 g9 F6R, 63 AYY V'€ GRIAN?

A) 9@ 9

B) sai919@ 69
C) edloe e
D) edldie e

43) ‘04’ 2da ‘@2e’geyn 61666 906 99q Q1L |

A) 892IR
B) ssie2ie
C) ogaie
D) Qe

44) 1 Q@2 96RAA 9o 94l ARl — REel & JRIQ 9Q?

>

) @l 9Q

O @

I® Q6EIE

Qo
QA I6ATE
Qe

D) §a

)
)
) Q0 S6ITEQ FEHNE)
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45) ‘dIef!’ 99 AR I8 QIS |

A) 29918
B) 66
C) @1f16aQ

D) sig8
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Section 6 - Paperll-Mathematics

No. of Questions: 15

O~

46) What value of y satisfies the equation o ?

A) 21
B) 23
C)25
D) 27

y N 7
2 -15 9
46) y @ 624 FI9G anieadq a0 24N y—ia ?
A) 21
B) 23
C) 25
D) 27

47) What is the maximum number of non overlapping triangles that can be drawn inside a quadilateral
such that atleast one side of the triangle coincides with the sides of quadrilateral?

A) 2

B) 4

C)5

D)6

47) A9I8Q 6866 THIR Qe IR 9QEe FUR PRIFIANINS CAUAE cANIPRR AGRACA CaIFY Al 0eEea 5aITY Al A iR
62@8e Y6° 6QrIER TOIQ ATEE ALREER ?

A) 2
B) 4
C)5
D)6
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48) Anil, Krish and Sathish start from the same point at the same time and in the same direction to
run around a circular ground. Anil completes a round in 25 seconds, Krish in 30 seconds and Sathish
in 15 seconds. After what time will they meet again at the starting point? (in seconds)

A) 150
B) 200
C) 300
D) 600

48) zRq, @9 1o AGE e AR GIRQ I8 AAAER IS AR GEER 98 QIR gfisa 6Q1GRl 2Ian @08 | 28a 25 caseusq, B9

30 6a6aasa 1a° AGE 15 6q60a6a 6615N QIELE AFIY A0E | 6769 ARG T6Q 6AFIER RIIA 2IAA FIPER 68562 ? (6369€6Q)

A) 150
B) 200
C) 300
D) 600

49) At r% per annum, a sum doubles after 10 years under simple interest. The rate of interest per
annum is

A) 5%
B) 10%
C) 15%
D) 20%

49) qida rz 6, 10 od aca @ aId aee guea G980 941 QIfia g 21e 6208

A) 5%
B) 10%
C) 15%
D) 20%

50) Which of the following is the solution of the system of linear equations 2x -y =9and x+y =67

A)x=1andy=5
B)x=5andy=2
C)x=5andy=1
D)x=2andy=5
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50) Safge eq 6aad 62ad 2X - Y = 9 ¥e* X + ¥ = 6 @ 60469 aa1ead daa gaiRa aqie ?

A)x=19e°y=5
B)x=549e°y=2
C)x=59e"y=1
D)x=24e°y=5

51) What is the area of the trapezium whose parallel sides are 6 cm and 10 cm and height is 8 cm?

A) 60 sg. cm
B) 64 sq. cm
C) 72 sq.cm
D) 80 sq. cm

51) 9@ I0RANQ AAIBAR TIYYER D 9 697 4e° € o 6QF NG AFGI I 6AF 626R ILIQ 6HLTR 6R6H 629 ?

A) 60 od sad
B)

C) 72 ad 6ad
D)

64 ¢ caf

80 <d 6af

52) Four iron metal rods of lengths 378 cm, 108 cm, 117 cm and 396 cm are to be cut into parts of
equal length. Each part must be as long as possible. What is the minimum number of pieces that
can be cut?

A) 101
B) 107
C) 111
D) 121

52) 378 sadi, 108 sad, 117 cadl wer 396 6afl 349 Ql6QIT QoI Qe IS AU QUGER AT 699 | Y6 2rd 2IAAR QAR
6991 9Qal | ISR 696616 L6a G121 FRSIANAURS ?

A) 101
B) 107
C) 111
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D) 121

53) The difference between simple interest and compound interest earned in 3 years at a rate of
interest of 5% per annum is ¥ 61. What is the principal amount? [Note: compounding is done
annually]

A) 72,000
B) Z 4,000
C) 2 6,000
D) % 8,000

53) @@@ 5% Qi 2106 3 @d6a 2GR 62IRAQ AR Y I 0RQE g auea aidiay T 61 1 606@ WEEa GRS 6268 ? (IO
0R9f QIfia €16e 62Iad)

A) 2 2,000
B) ¥ 4,000
C) % 6,000
D) Z 8,000

54) Three numbers A, B and C are in the ratio 2:3:9. The difference between C and A is 210. If all
three are positive numbers, then what is the value of B?

A) 30
B) 60
C) 90
D) 120

54) deaic aau A, B wer C a agaie ¢ea@ 2: 3: 91 C ger A auea aidey 6298 210 1 90 86915 e URIARD el g218,
cose B @ QIR 6Q66 2

A) 30
B) 60
C) 90
D) 120

55) Diagrams used to represent relationship between finite sets is

A) Argand diagrams



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

B) Bar diagrams
C) Pie diagrams
D) Venn diagrams

55) aifie 6a59@a uea AP QIR AR NG 62l LING 1Y cead

A) zidie Q1RG99
B) qiq 01991619
C) ae @919
D) sae @109161Q

56) What is the value of the following expression after simplification?

Expression: ¥(1+ V(36 +(\729) x 20))

A) 25
B) 15
C)9
D)5

56) aan1ead aca AR 2RMNEQ gad @'6 ?

adeyd: V(1+ V(36 +(\729) x 20))

A) 25
B) 15
C)9
D)5

57) A circular swimming pool is surrounded by a circular concrete walkway and the area of the

walkway is 9/16 times the area of the swimming pool. If the width of the walkway is 2 m, then what
is the radius of the swimming pool?

A)4m
B)5m
C)8m
D) 10 m
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57) 9@ 9oqIa 9 ga QI5des ol QoIRIa @ES ORIde QIS 696 6RIREPE e ORITq 6E0TR e JRR 69T /9 gl
266 | 9@ ORI 6AISER 9 FCQ 62IR2IN, 6069 YA’ gna QUIAIR 6QEG 626 ?

A) 4 dea
B) 5 dea
C) 8 dea
D) 10 dea

58) The ratio of the present ages of Seeta and Geeta is 2:3. 10 years back, the ratio of their ages
was 1:2. What will be the ratio of their ages 20 years from now?

A) 4:5
B) 5.6
C) 5.7
D) 6:7

58) aiel e disiw @oriea @vda agae 62ad 2 (31 10 ad geq, canies @aaa agae 1. 2 gal eeae o1 20 ad asa
EATIREE RAAQ ARG 6REE 699 ?

A) 4.5
B) 5:6
Cyo:
D) 6:7

59) In a group of 50 people who drink at least one of the two drinks tea or coffee, 30 drink tea and
14 drink only tea. How many drink only coffee?

A) 23
B) 22
C) 20
D) 16

59) 80 PE 6aITIER CAVCISR 6 '@ @F QAF F1RIQ 218 FFI6Q 6alIeN Taad, Mo @4 6’ daed Ie* ¢¥ 96 6aeR 6 Jaed | 6REeRd
SRR 6RO KT Ja@ ?

A) 23
B) 22
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60) Which is the least number by which 7,203 must be multiplied so that the product will be a perfect
square?

A) 11

B)7

C)3

D)2

60) aadq sa9 ey a2l Qial 7,203 qéio 6291 A94R8 AL QO QYL IR AUYS 96 699 ?

A) 11
B) 7
C)3
D)2
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The highest part of Earth's atmosphere that jet powered aircrafts can reach is

A) Stratosphere
B) Troposphere
C) Mesosphere
D) Thermosphere

61) gae1n QPNEna A6LIE 2ra 6IR0IEa 6RRERe GrIngde awdalsa

A) RI6913AQ
B) g6aIZaQ
C) saca@aQ
D) 2leciidaR

62) Gradual increase in the overall temperature of the Earth's atmosphere is known as

A) Ocean Warming
B) Crust Warming
C) Global Warming
D) Land Warming

62) Q2RI QIALRA AIATR SIAFIGIER M16Q 2160 & T QIR eeaigsl
A) 6aq aife

B) g& @ié°

C) sqieim @ide

D) Quig @id°

63) Which judicial writs means 'we command'?

A) Writs of Habeus Corpus
B) Writs of Ceritorari
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C) Writs of Mandamus
D) Writs of Quo Warranto

63) 629 QUIde 6RIQ 2el 62a8 ‘AIeR FeRd 69R’ ?

A) 91992 @dd @ 6adl
B) 6206618 @ 6@d
C)

)

D) 6% Gleerest @ 6qgll

AN Q 6mell

64) During the reign of which dynasty, the Rathas of Mahabalipuram was built?

A) Pallava Dynasty

B) Chola Dynasty

C) Rashtrakuta Dynasty
D) Pala Dynasty

B4) 629 AF°IQ 419 FIREA ATANIATR Q2 IS FAIAIRYRI?

A) ARE AK°S
B) o1l @uea°4
C) Qaige QIee°d
D) aiqi Qu@e°s

65) The 1985 Helsinki Protocol is associated with

A) Acid Rain

B) Soil Conservation

C) Coral reefs Conservation
D) Mangroves Conservation

B65) e g 62aaQd 69I65IRR 19 A9 P66

A) 2g,edl
B) 96%! a8
C) 99In ase
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D) MY Tagel

66) Which among the following options usually help the scientists to understand the solar system
and universe in a better way?

A) Comets
B) Planets
C) Artificial Satellites
D) Natural Satellites

66) AUAYE FRAYLR TIQ 62LT ARIREIFS EFRIGACIRT 6d1Q IR 9e° I Ia AN AUIUER FBI6R
QAIQIYY REQ?

A) yreag

B) ge

C) 98 @age
D) gede @age

67) All Bills passed by the parliament can become laws only when the President has assented it
under

A) Article 111

B) Article 111 (1)

C) Article 112

D) Article 112 (1)

67) e QIal €iq AAIKIRZel A8 IR UIRNER IS 62IRUIER 6U6EERER QIATE 2IQ AQEAINY QA6

A) diSieee
B) el eee (¢)
C) ueiee9
D) diei €9 (¢)

68) Identify the basis of difference between Parliamentary and Presidential form of Govt.?

A) Relation between the legislature and executive
B) Legislative supremacy in law making

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App

WtsApp/Call- 8596976190

C) Method of election of Head of the State
D) Power of Judicial Review

68) wrawia e 99E demiaw ea difiave Bkia 96 fag |

A) UGIR & QINFQIR1 ARIER AR
B) 2ia@ SUREA ARG A6QNLG!

C) ais geiie BQloe aad

D) filde aaiaia 69

69) The area bounded by the Tropic of Cancer and the Arctic circle on the Earth is known as

A) North Temperate Zone
B) South Temperate Zone
C) Torrid Zone
D) Frigid Zone

69) @@ Q@ 9o AR UKD AFQ QA AL 2°eR 921 WG RN

A) a@a angieeis 639

B) QF4 QNG5 680

C) gy aaa
D) @c014am

70) What was the name of the Operation started by the British Govt. to arrest the leaders of Quit
India Movement?

A) Operation Blue Star

B) Operation Zero Hour

C) Operation Thunder

D) Operation Rhino

70) 2U09LIe ERINGR 6eeIRIeE JaT @Ry G549 deriaw YISl ZIe 62N LR I @76 2l ?

A) 2€6029 ¢ AQ
B) zasaaq 864l 21Gia
C) U960Qs 244
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D) ZIede QURNCE

71) In the history of medieval India, who among the following rulers founded the Slave Dynasty?

A) Ghiyas ud-Din Balban

B) Shams ud-Din lltutmish
C) Qutb ud-Din Aibak

D) Nasir ud-Din Muhammad

71) AUGYIA QINERA AGLIAER, FINGS FIARARE F1UQ @ QI QIFR°F Y5V KaYsq?

A) daiq @Q 3R ANQI]
B) &4 @@-07 angedig
C) Qo9 Q@-4Q ARQIQ
D) 0ida @Q-0] eee

72) The Ministry of Environment and Forests was formed in

A) 1972
B) 1985
C) 2005
D) 1986

72) N2 Q1AQI6Q bl 6 9arR AREIRA S08 FAUAIRER

A) €099
B) ec¢rs

C) 9008
D) eers

73) Article 74 (1) mentions categorically that

A) The President can, if need arises, act on his/her own, defying the advice of the Council of
Ministers

B) The President cannot act on his/her own as he is bound by the advice of the Council of
Ministers

C) The Presidentis the defender of the Constitution

< >

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

D) The President facilitates the Law making process

73) i 9% (©)6a 92l FRe ANER AERY @68

A) &R, 99 AR A69, 7161 AGTR aaIadq 29aIRl @8 F6e QIKY @AaIGiee
B) flal aGeeq CAIFIEER QIR 62IRIRIQ AR F69 FIdY @RAIRES Q1L

C) @ede 62988 TANIER QEIRIG

D) Q9d 2ae AR 9aag 29w @03

74) If the time difference between two places is 2hrs 20min, then what will be the difference in their
longitudes?

A) 45°

B) 35°

C) 60°

D) 30°

74) 9@ Q98 Qe F1u6Q AAK AR 9 @6 9o GRS, 6069 6AAINTR VAT Au6Q AT @’¢ 629 ?

A) 45°
B) 35°
C) 50°
D) 30°

75) The Khilafat Movement fell apart due to which of the following events?

A) Pact signed between INC and Muslim League
B) Revolution in Turkey

C) Violence in Chauri Chaura
D) Announcement of concession to Muslims by British Govt.

75) 3QA40 9061999 AUQ 6a9E dial ATE AN ARG CARARER ?

A) 2IRRT IS ARE Q6 AR ABGE QB
B) @416Q dge
C) $9a1 9aQIea &al

D) @56l Qe@Ioe QIel JAandIeaIes IR QLIS cQIaQl
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following gas will form when Cu reacts with hot and concentrated HNO3?

A) NO
B) N2O
C) N2

D) NO2

76) Cu ae9 & aeaaesgsse HNO3 a@6 goaa anisase Gaa9e aUd i 696 98 620 ?

A) NO
B) N20
C) N2

D) NO2

77) Select the CORRECT statement regarding normal boiling point of liquids.

A) Vapour pressure of liquid is less than 0.5 atm
B) Vapour pressure of liquid is equal to 1 atm
C) Vapour pressure of liquid is less than 1 atm
D) Vapour pressure of liquid is equal to 2 atm

77) oow aoide Aeg ¢o9 9°0 dasa A0R SQAET q cas aag

A) cara e aa 0.5 atm q @q saiRela
B) copa a1 aa 1 atm a@e aaie seiRad
C) eara @@ aa 1 atm q a4 s21qelq

D) cora qia qi@ 2 atm a@e agiq c21@ald

78) The Sl unit of temperature is

A) ampere
B) candela
C) kelvin
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D) mole

78) QIIQ S| 98T /e 628

A) 2F9IQ

B) qleaml

O

)
) 6RRR
)

)

6elIR

79) What is the primary purpose of Saccharomyces cerevisiae?

A) Biomass
B) Biofuel

C) Bioleaching
D) Baking

79) ARI6aIA6A 6A6RRATR P AN @' 2

A) QeLleld

B) s&eaee

C) QleRiens”
D) 6e&°

80) Read the following statements and choose the CORRECT option:

(i) Stem tuber is a swollen tip of an underground lateral Stem

(i) It is covered by a corry Skin with a number small depressions called eyes

A) (i) is FALSE and (ii) is TRUE
B) (i) and (ii) are TRUE

C) (i) and (ii) are FALSE

D) (i) is TRUE and (ii) is FALSE
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80) dgage TRQEI196e 0eq 9&° A0 698 199 :

(i) 671 6190 6908 IR ALAGIRd QAR 691 A FRAIRAL TA
(ii) 921 9@ cqIqn @4 QIal 2% QIR Z6ra 6216 3609 QI AR

A) (i) 234 2166 e (ii) AN 2169
B) (i) wer (ii) Qo4 6%

C) (i) we (ii) 21904 2169
D) (i) Q@4 &6 e (i) 2QABY 2168

81) Oxalic acid is used as standard solution to standardize KMnO4. Which among the following will
oxalic acid get converted into along with its oxidation number change?

A) CO with a change +3 to +2 oxidation states

B) CO and CO2 with a change +3 to +4 and +2 oxidation states
C) CO32- with a change +3 to +4 oxidation states

D) CO2 with a change +3 to +4 oxidation states

81) KMnOs g cliee @64 da 291Re 136 fIea AFRIS QINER Q4990 94| FRge FQ 6266 2gIae 1de 121a 256eaa e
JReoR 286 QUIShe 699 ?

A) +3 @ +2 2g60ae 2egl atees a@e CO

B) +3 @ +4 wer +2 2§6eaq 299 abeoe a@e CO ver CO2

C) +3 @ +4 285020 2eq caees ade CO32-

D) +3 q +4 21gcear 29g aaees ade CO2

82) Why does liquid diffuse less compared to gases?

A)
B)
C)

D)

Molecules in liquid are closer than gases and hence more collisions occur during their
movement

Molecules in liquid are closer than gases and hence less collisions occur during their
movement

Molecules in liquid are distant apart than gases and hence less collisions occur during their
movement

Molecules in liquid have more kinetic energy than gases and hence more collisions occur
during their movement
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82) quia @%Iea e dald AIEe @7 daIe 99 ?

A) 66R aQIEEa gQl 2gYP@ GMIA 26T FATER NE 664 AAINTA 616 ANNER TR UG 24
B) 9o% aidieq 29l 2¢gEe GUQ 260N FACER N 664 6ANINTA 6 ATNER @6 Q| 24
C) ©aR aIgea 29l AYER QA OIQ QAR IE* 664 6AFINEA 8 AFIACR @A U] 23

D) 99 dQIgiea &e| 24YFR6a I AT HYR B §3 &I 9 664 6IANTTR I8 ATACA AR AG) 24

83) A bike moving at the speed of 80 kmph possesses

A) Heat energy

B) Sound energy

C) Chemical energy
D) Mechanical energy

83) Y@ QI9R Il @ A4l 9F 80 &7 69960 96 @QE , GI2IA 9T 6291

A) QIa1 6@

B) aaa@

C) aiaiode 6@
D) @@ 63

84) Tissue taken from its original site and transferred to an artificial medium for growth and
maintenance is called

A) Agriculture
B) Explant

C) Transplantation
D) Horticulture

84) v2ia g% e FUKIRLRI 1e* 2RE 1 QLIS AIel 98 REA AlIAG YRISEe IV QRIAN |

A) 4giene

B) ugqie

C) cIgqIeeedq
D) gadana
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85) Mitochondria are called "Power houses of the cells" because

A) they are semi-autonomous cell organelles
B) they contain own genetic system

C) they produces cellular energy

D) they divide by fission

85) fiasciedelg ‘6aIagdea 44 0a’ QeI

A) saqge ue-Qeraide caia adiseq
B) 6dgEaa f99 cacate das aidg
C) 6Q€IER 6ARIAIQ 93 QAR 70T
D) 62968 QRIR {0l NI /83

86) Ephemeral plants are those plants which

A) store water and food

B) have long slender stem
C) have very short lifespan
D) grow in saline soils

86) weaeran abe 6208 628 a8 alel

A) 8% NG A TS @R
B) @R 63@a68 a8

C) 926 @0 91999I¢ 28

D) 242 fIgeq 9@ad

87) What mol% of cation vacancy will be present in a crystal structure of NaCl if 10 mol% of CoClz
is added as an impurity?

A) 6.02 x 108 mol"’

B) 6.02 x 10" mol’!

C) 6.02 x 102 mol"

D) 6.02 mol-!
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87) NaCl a vuq a5e raowisa 6a¢ Mol % qussae @R ade 96 CoCl2 @ 102 mol% e 8gee aesa 6216 @A ?

A) 6.02 x 10"® mol’
B) 6.02 x 10"® mol"!
C) 6.02 x 10" mol!
D) 6.02 mol"!

88) The value of 'g' as the acceleration due to gravity at the surface of the earth is

A) 5.9 m/s?
B) 7.9 m/s?
C) 4.3 m/s?
D) 9.8 m/s?

88) 92Ia1 QAGR QUEA FIRIGEE 621G FIG QAGER ‘g’ Q (Y 62Q8E :

A) 5.9 m/s?
B) 7.9 m/s?
C) 4.3 m/s?
D) 9.8 m/s?

89) How many bones does Humans have in their vertebral column?

89) adanieee 691Qe 2R6Q 6R66IG 21 28 7

A) TN
B) 89
C) M9
D) 82

90) A receptor protein in the plasma membrane which maintains adhesion between the extracellular
matrix and intermediate filaments inside the cell is
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A) Fibronectins
B) Collagen

C) Integrins

D) Glycoproteins

90) qg! 699I96Q a1 ¥ REAQR 69T QIDI NFFIEAPAIR FUITF 9G° GPERAENS TRICTTS AU6R BIGIR I 6H

A) TIR6LU6RRQ
B) 6@IRIeoe
C) &83Q

D) eI
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Question Paper No: 62384 28

Answer Key
1A 31| D 61 A
2|B 32 |-A 62|C
3|C 33|D 63| C
41D 34| C 64 | A
5|1C 35|C 65| A
6|C 36| B 66 | C
7B 37| A 67 | A
S|A 38| D 68 | A
9|C 39| C 69| A
10 | C 40 | C 70 | B
1A 41 | D 71|C
12| A 42 | A 72 | B
13|C 43 | D 73 | B
14 |C 44| C 74 | B
15| C 451 B 75| B
16 | B 46 | A 76 | D
17 A 47 | B 77| B
18 | C 43 | A 78 | C
19 A 49 | B 791D
20| C 50| C 80| B
21 | A 51| B 81| D
g2 | C 52 | C 82| A
R3 | C 53| D 83D
241 C 54| C 84 | B
25| B 55| D 85| C
26 | C 56 | D 86| C
27 |G af | ¢ 871 A
28 | C 58| A 88| D
29 |C a8 | € 89| A
30| C 60 | C 9 | C
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